10

11

12

13

14

15

16

=% A\ 2=
HEeEERERREE ¢ )
A & H 2025 £ 5 A 24 H T BEH HA A DaZFh—F Ak
AR E: 12 B¥ 0% x & 5]
HAERTER: 13 BF 50 43 2 5 MK%%4$—24—JLREXPO T 50 A
F— L% 1Q 2Q 3Q 4Q oT TOTAL R ot
HYARIA 5 —X(S) 7 2 7 3 19
i = )
95 TR7—X(B) 0 0 0 0 0
i = 7
Point After Touchdown
F— L% Q 2B BALEILA BALEET4 BEY—FK TLARE BRLEZEFE B KK
S 1 7:32 RUSH #28 AR 5 K)R P #15 +& G NG
S 2 8:35 SAF K R P G NG
S 3 1:11 RUSH H#7 BEA 14 K)R P #15 8 G NG
S 4 8:35 FG #15 5 30 K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
B Rsuh=5(2&BTD. Pass=/SRIZ&LBTD. INT=f > Z—tF &) A—>L1=TD. PR=/SU k- JB—2 2L BTD. KOR=FvH74 T 1)a—2(2&BTD
2 FUM=D7 7 LOWHERERLFIF—VIZESTD, FG=J1— )L -T—)L DR, SAF=t—277 ¢
F—L4 HYARIA 5 —X HSIR7—X
=X11 14 4
S5 — XA — XA 9 — 4 — 1 2 — 2 —
1 JT7—RAREHY
3 down TOEF 3 J 8 2 J/ 11
ADOWNTODEH 0 J 1 0 J/ 1
_ " , N © A ) A
2 S EIE — EH/Y—F 36 — 167 20 — 23
Yds Yds
. i @ ® @ @ ® @
HE — B — INT 8 — 6 — 1 13 — 6 — 0
3 INR 5 5
R Ih 3 EJY—F 75.0 % 9% 46.2 % 53
4 WE [B] %k — EHYVY—F 44 — 262 Vas 33 — 76 Vae
5 B ( 5TEF 12 ) 29:15 18:45
I * _ = - > _ _
A J= Al [B13% BRY—k 3 30 Vas 2 20 Vas
B J7vII B - E5 S 1 — 1 2 — 1
C J4—ILET—)L 2135 — D) 1 — 1 1 — 0




